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FOR PUZZLE FANS
Ages: 9+

You will need:  
Scissors
Glue
Thin cardboard or sturdy paper 

The museum is not responsible 
for any damage. Carry out the 
workshop at your own risk. 

ArcheoChildren

For children and families
Are you curious? Do you 
feel like being creative? Well 
then, this workshop is simply 
perfect for you! 
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“Hello,
I’m a container and 

Ötzi brought two of us 
along on his journey. We 

were made from birch bark 
and that’s why we are so light 

but also somewhat fragile. 
When we were discovered 
after 5,300 years beneath 

glacier ice we were broken 
into many tiny pieces. 

Someone was nice enough 
to put us back together 

again like a puzzle. 
Unfortunately, some 
pieces went missing.”

“I am Container 
Number One, and this is 
how I am displayed in the 

museum today.” 

The birch bark 
containers look like 

cylindrical boxes and 
are about 20 cm tall. 

The slightly oval-shaped 
base has a diameter of 

about 15 – 18 cm. Would you like to learn more? 
You can find further information 
about Ötzi’s equipment at 
www.iceman.it.
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It isn’t easy 
trying to assemble 
these pieces into a 

container if you don’t 
have a pattern to follow. 

What do you think?

Puzzle pattern



Ötzi carried 
glowing charcoal in the 

second container. He wrapped 
it in fresh maple leaves so it would 
still be glowing after several hours. 

This makes it quite easy to start a fire 
quickly. Without embers you must 

start a fire with pyrite, flint, and 
tinder. This is no easy task if the 

weather is wet or windy…    

Tip: If you’d like to share a photo of your bread you can 
tag it on Instagram or Twitter using #oetzitheiceman. 
You can also email it to us at press@iceman.it. 
We are looking forward to it! 
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© based on a template by Institut für Archäologien, Universität Innsbruck

Ötzi‘s container is about twice as large. 


